

Multiply by 10^{-3} (H)

Find each product.

$$8.27 \times 10^{-3} =$$

$$6.2553 \times 10^{-3} =$$

$$9.6 \times 10^{-3} =$$

$$2.28 \times 10^{-3} =$$

$$2.753 \times 10^{-3} =$$

$$6.656 \times 10^{-3} =$$

$$2.4 \times 10^{-3} =$$

$$7.3 \times 10^{-3} =$$

$$5.9 \times 10^{-3} =$$

$$5.62 \times 10^{-3} =$$

$$2.782 \times 10^{-3} =$$

$$1.08 \times 10^{-3} =$$

$$6.6609 \times 10^{-3} =$$

$$1.78 \times 10^{-3} =$$

$$8 \times 10^{-3} =$$

$$7.642 \times 10^{-3} =$$

$$5.718 \times 10^{-3} =$$

$$8.548 \times 10^{-3} =$$

$$9.62 \times 10^{-3} =$$

$$1.5329 \times 10^{-3} =$$